F2-154%R HAlE SR
LEFTMmEFAXICEET H5EMERE
DRSS IEXEE I E£ % I = @ F ¥ Eflis (A ) ARLAR I = B =
= s _ = P BTG 2 S Hh R _pnas DIP.GX ¢ 150 L=111.0m.DIP.GX¢ 100 L=577.0m,SSP$ 100 L=29.0m. {t{1#.GX 150 2%,
LATI00815 AER | (EEOORAERRELE | gpmmEts -0l ¥177,704,000H M 156X G100 75, REKEBHEF 100 15, AR $75 25
BT R EDEER CEOHIEE Hhig AR ZDith
HEEE HiED| mE | TERE o N E L e | BETE| SO EBTE | ERTH K507 | FET | smn | reos o | EFHHED | HRABIEM | REFLE SRl A A E P R O R %
ﬁ% I%%%ﬁ AEEFE I$ﬁk’-ﬁa CPDHET?.F %?glﬁ I$£,{ﬁ§ I$I’j€ﬁ‘ﬁ ﬁ%ﬁ ;%JE%(E%;%EF EHHIEE ﬁ%%fﬁﬁ ?ﬁf’ﬁ%ifﬁ %y‘ t'li;ﬁﬁg iﬁiﬁ *E*JJ: BHJ\' Im;{ ﬁﬁk 5]\ l_v:‘__«-F EH&IEE
[i5g= 1 2 1 2 2 2 4 4 1 — 1 1 2 1 2 2 2 GRi&=) GRi &) —_ 31 10.000
[ fifiA% LA ST O BT filidid 5R )
BT R EDEER CEOHITEE Hhig AR ZDith
ARLE = i . EInBE| G e | 1SO ; ; K55 BT ) . % = 5 il R A E MR e
- L B L B L O s0mE LR Ee T o oo | BesAE | prm oz | ERC - tm | prse-mog| BTEEO | WAL REBLEK g pgpn "
R T EHA R4t iR
HenEAEEA 1 0 0 0 1 2 4 0 1 — 1 1 2 0 1 2 0 0 0 — 16
[ FiaBoTy 16000 ]
[ EFEHR
AALIERE (B k) BAEREEE(RBEE) HEMEMES(C)=| LAEmE = sz =
ALE (A) EAR ® ®-1 B2 Mm% = (B) 100+(B) (C/A) x100,000,000 EALE FHREREORR
K £ s R £ A 8
“f1 & B H
“f1 % B 8
AFLE LLEEAS (B dkE) ZES (ELEEET(M{E) X1 MBS, BB/ EMEMERALEMNETERTR
EAE ST {E 100.000 X2 MEA=(BA/REBH) X (MEADES)




